1.  Find the slope of the line.


ANSWER:  
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2.  Find the slope of the line that goes through the pair of points:  (2, 5), (6, 10).
3.  Graph the line through (2, 3) with slope 
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4.  Draw L1 through (-2, 1) with slope 
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, and draw L2 through (-2, 1) with slope 
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5.  Write an equation in slope-intercept form for the line.


ANSWER:  


6.  Write the equation in standard form using only integers.
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7.  Draw the graph of the line using its y-intercept and its slope.



[image: image5.wmf]4

x

2

3

y

-

=




8.  Write the equation in slope-intercept form.
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9.  Find the equation in slope-intercept form of the line through (3, -1) with slope 
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10.  Find the equation of the line through the points (0, 3) and (5, 0).  Write the equation in standard form using only integers.
_1112933479.unknown

_1112934139.unknown

_1112937824.unknown

_1113068648.unknown

_1112936678.unknown

_1112933528.unknown

_1112933253.unknown

